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ONRIHEBES IHEs 2
6,000,000& 6,000
OHALUTAAY SX24
40,150,000 *8% 3,212
OZHOIXI HHAUFBELEXHAAY RIIL
= 26,540,000 8% 2,124




A Bl

Mz PG SR (L2 2SN /ABSHA)
oel: 32lE SE dAEFE 2 (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OYSIHEAIAE S22
159,654,000 *(7/122& ) x8% 7,451
OYYUSIHEA A (Q2) KA B4
26,400,000 *8% 2,112
OslE MEHM 2elAAE SXE=
31,900,000 *12% 3,828
OB ZHMHAIAE SIS 14,023
- HERKIAEZMA 124,736,400 *8% 9,979
- DBE 2O (2L 41,200,000& *8% 3,296
- AMAEIEZ2H 9,350, 0002 *8% 748
OMIFEBEEHBINZEAIAE SN2
67,540,000 *8% 5,404
OPC eI E 253 &2d SXES
27,720,000 *8% 2,218
OZEzY HAze 248 RIS
21,560,000& *&% 1,725
OUPCXIZ10| X224 19,050, 200& *10% 1,906
405 KHAHSRISHI 34,184 177,000 N 142,816
01 AL 2 SF S| 34,184 177,000 N 142,816
O= gty uxl 34,184,000& ~1CH 34,184
S SAAH(EAM DD (IIEHDIE 161,358 108,019 53,339
OlHAHEH|(HM W) 109,350 53,059 56,291
ClHASHEH|(HMWFI) 109,350 53,059 56,291
101 Q124d| 109,350 53,059 56,291
02 JIEt&E 4= 109,350 53,059 56,291
OZEMINSAHAIZILERMIADIH 2tg) E2(2
) 109,350
-¢s 3,248,000& x2& x 128 77,952
- H2I1&EH| 50,0008 *(35/40)x2H * 12& 1,050
- I AIH| 140,000 2 x 128 3,360
- NEBxY|
175,000 *(35/40)x2H x 12& 3,675
- SEANILY 157, 76032 x 128 3,787
- HDI2 A
3,248,000 *86%+1/30%1/7%224 A| 2+ 2,980
- Al2telag
10, 1622 x45A| 22 x 12& 10,975
- DErEsua
48,443,000 *1. 75%*2H 1,696
- 2WAYBHEYD
48,443,000 x3. 545%*2H 3,435
- LoD QAEEHEEZ
1,717,000& *12.81%*2H 440
J2Z8(HM NS 52,008 54,960 N2,952
J2Zd(HM NI 52,008 54,960 N2,952
201 LBt AH| 21,528 19,800 1,728




SA: Bdusu
3 AIRIFH(BYnS)(JIEHIIE
celr JI=ZH(BY8us)

(ehol:®el)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
01 At2t2ltl 20,328 18,600 1,728
ORA2YII=4BY|
40,0003 * 16 122 x90% 6,912
OSAMII=Ra8 A
8,000 x 162 +6A!* 12 9,216
OZgH &l 350, 000& *4JH*32] 4,200
2 35244l 1,200 1,200 0
O= AP S HHIF A 200,000 +63] 1,200
202 04l 26,880 30,240 23,360
01 =LHNHI 26,880 30,240 A3,360
OJ=R 48 EHOI|
20,0002 x 162 *143| x 123 +50% 26,880
203 SR =L 3,600 3,000 600
4 2EAEEY 3,600 3,000 600
ORAM2gY 300,000 * 122 3,600




